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21. Which of the following statement(s) is/are correct?

(A) If the electric field due to a point charge varies as

r–2.5 instead of r–2, then the Gauss law will still be

valid

(B) The Gauss law can be used to calculate the field

distribution around an electric dipole

(C) If the electric field between two point charges is

zero somewhere, then the sign of the two charges is

the same

(D) The work done by the external force in moving a

unit positive charge from point A at potential VA to

point B at potential VB is (VB – VA).

Sol.

ANSWER KEY EXERCISE I  - 

1. B 2. C 3. D 4. C 5. A 6. C 7. B

8. A 9. A 10. C 11. A 12. D 13. D 14. B

15. A 16. C 17. A 18. A 19. D 20. A 21. B

22. B 23. D 24. C 25.   (i) B, (ii) D 26. A 27. A 28. D

29. A 30. C 31. B 32. C 33. B 34. D 35. D

36. A 37. B 38. C 39. A 40. D 41. C 42. C

43. C 44. A 45. D 46. A
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9.    A,C,D 10. A,C,D 11. A,B 12. A,C,D

ANSWER KEY EXERCISE I  - II

1. There is a positive charge in the close surface. 2.
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ANSWER KEY EXERCISE   - V
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7.  A,B,C,D 8. A 9. D

10. B 11. B 12. A 13. B 14. C 15. B 16. 2

17. A  18. A 19. C 20.  A,B,C,D  21. C, D


